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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

‘2. This questiqn paper 1s divided into two sections.

3. Answers ‘may be written either in English or Hindji;
but the same medium should be used throughout the
paper. ’
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SECTION A
e &

{ the following questions.

Answer briefly any six 0
(5 ‘marks each)

ﬁwﬁ{lﬁaﬁ%ﬁﬁﬁ@om&mﬁml
(5 HAeF Uuw)

1. Contrary to the contention of the economic historians
like Moses Abramowitz and Aleksander Gerschenkron
 that “backward” 'countrles would tend to grow faster
~ than ‘the rich countries, many empirical studies

1nclud1ng that by Baumol. reveal that in a larger sample

of countrles the convergence hypothesw fails to hold.

What explanatlon ‘would you offer for the same?
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2. -Harrod’s model is one of a knife-edge balance -

" between cumulative inflation and cumulative deflation.

- Discuss with necessary algebra stating clearly the
assumptions of the model.
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Critically examine Friedman and Phelps versions of

the ‘fooling model’.
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N Explain how acentral bank that follows the Taylor

- rule will stabilize economic activity and achieve its

target inflation rate in the medium run.
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The asymmetries in the pace of adjustment in different

‘markets results in exchange rate overshooting.

Discuss.
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6.

For a Hicks neutral production function Y= BK%4L06,
calculate multifactor productivity growth rate if output
Y. capital K and labour L grow at 4%, 5% and 8%
}espectively? What is the link between total factor

productivity rate and the social infrastructure?
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‘What is a cyclically adj‘ustéd budget deficit? How can
it be used to judge the ”directibn of fiscal 'policy‘? '

wﬁum%mﬁammw%?mﬁnﬁﬁ

aﬁﬁﬁnmaﬁ%a‘ammw&%mwm
27

Under conditions of perfect capital mobility, fixed -

prices and flexible exchange rates, assess the '

effectiveness of fiscal policies.
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SECTION B
LG |

Answer any three of the following questions.

(15 marks each)
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9. (a) The economy of Indus has been a witness to
\ qontinual increase in 1ts pkrimary deficits during
the period from 1995 to 2000 adding to its stock
of public debt. However, its debt to GDP ratio
over this period has been Witnéss to a steady
degline. Wﬁat _‘explanati‘o'n‘ would you offer for the

same? . -l (1.5)

(b) In the literature on moral hazard, some economists
argue that depositor protection is not desirable.
‘ Do you agree? Do you think "that depositor

protection should go hand in hand with prudential
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regulation and supervision for a stable financial

system? (7.5)

P.T.O.



1452 6
(a) fgg o sederae 1996 A 2000 @ Frafer & NET
adaRE wo A wie B a1y e wafier e
¥ v i A s W B o, @ st ¥ s
W-Gﬁﬁ\i’lmﬂmﬁnﬁnﬁtmmeﬁm%l T
e Ry T w37

(|) Aw o W R Y, 7o admend @ 7 2
ST @ W SR A8 B T ST EA B 7
T I H o B T v R Rl ol & e
sl e Rt REwE ok TR $
a-ar B =iRe? |

10. (a) Examine the imﬁact of a,negativé tecﬁnology shock
on the level of outpuf and employment, as per the
real business cycle approach. Also show that this
effect crucially depends on the slope of the labour

supply curve, ' (1.5)

(b) Assume that a price setting monopolist with no
fixed costs and MC=3 faces an original demand

- ceurve of P=10-0.1Y, Over a period of time, the

demand falls to P=8-0,08Y.
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(i) If the firm were to maintain the original
level of output what should be the new

marginal cost of production?

(i) Use the new demand and the new marginal
cost curves to compare the profit of the
firm when it ‘produce,s the original output
with that ofthe profit when it charges the

original price.
(iii) What is the maximum value for menu cost

'undcr which we could expect this firm to

maintain its original output? (1.5+4+2)
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11. (a) Write a note on the process of pefpetual '
growth under the AK model and discuss as to

why this’does not occur in the neoclassical Solow

model. (5)

(b) The pb'pulation of the world has increased steadily
since the mid-1850s to reach 8 billion as of
November, 2022. Use the equation given below
to explain the role of ﬁopulaﬁion of the world

economy in determining per capita output along a
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palanced growth path. How does the share of the

researchers in the economy affect the level of per

capita output? (5)
s (44
- ' k 1=
t) = —_— oY,
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(c) For a simple neoclassical production function
Y = K% L%6 what is the steaay state level of
capital per worker when the level of savings rate
is 20%. The depreciation rate and growth in labour
is given as 15% and 5% respectively. What is the
savings rate that maximises the steady state

consumption per worker? What is the capital-output

ratip at this steady state? (5)
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12. (a) Write a short note on absolute PPP and relative
PPP theory of exchange rates. The GDP Deflator
of United States and India are 125 and 200 in
2021 both calculated with the base year 2010=100.
The exchange rate of Indian Rupee to the dollar
changed from 45 Rs/$ to 72 Rs/$ during the period
from 2010 to 2021, Arc the currencies following
relative purchasing power parity? P o))

Y N



1452

11

(b) The commitment to maintain a fixed exchange

(¢)

rate makes the money supply stock endogenous.

Discuss. (5)

Suppose that the annual interest rate is 8% in
India and 6% in US. The spot rate of the dollar is
Rs. 80/§land the three-month forward rate on the
dollar is Rs.80.80/$1 on an annual basis. What is
the value of the covered interest arbitrage margin?

Also discuss how covered interest arbitrage parity

would be .established. (5)
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